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a) log,32 = b) log,s5 =
c) log, % = d) log, 16 =
e) logs5 = f) log,2 =
g) 10%3% = h) logg v2 =

RDID x "ERHE.
a) logyx =3 b) log, x = —%

c) logzx =2 d) log,;x =3

log, M =71, log, N =s EBEM =a’, N =a* EEED, COTEEISHEBENBLT
RDBDEDDIHRDIEEE I &

M
a) log,(M x N) =log, M + log, N b) log, <F) = log, M —log, N

c) log, M" =nlog, M

FHEES: K%

p=log,2, q=1log,3ETDEE, RDE%Z p, q THRE.

a) log, 8 = b) log, 18 =

¢) log, 12 = d) log, 1.5 =

MDE 2D EHEE L.

3

3
a) log, -~ —log, = =

1 5
b) 5 logs 5 —log, % =

) log,(3 4 +/5) +log,(3 — V/5) =

d) 3logs 15 —1logs 135 =

(6] mROBLDIEBEICEL.
1
3

loglo 125 + loglo % — loglo 03 =

A B C
b) log, B + log, Yol + log, 1 =

TEDEEICLD, a'°%a® = h HRDIID. TORDTRD ¢ ZERETDNHEMDTEICELD,
log, b % log, a & log,. b TERHE.

log, 3 =m DEE, log, 6, logz2 7% m TKRE.

a) log, 6 = b) log;2 =

[2(CHE<]



9] EOZBRARNERVNTROINEBBICE L.

a) log, b -logya =

b) log, b -logyc -log.a =

A% y = log, x ICDVWTRDERICHTIFED x D% N\ THRE. 122U, 2°° = 1.414 £T 5.

AIRZFMALT, BHEEH y = log, x DTS T 7%E(T.

4DDBEH y =3%, y=3"%, y=logzx, y=—logyx DTS I%HEI7.

232 (FAHEDEHD. 12120, log,e2 = 0.3010 £T 3.

e, HEBDHSR%E 1 MBERTDTEC, ZORED 1—10 BESEND. COHSRETR
PSR- EDEBRTDE, HENEED % BIFCBHONZH. 172U loge 3 = 04771 ET 3.
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